 Year 5 Maths Homework
Bring to your Maths lesson on Thursday 25th September 

	100Th
	10Th
	1000
	100
	10
	1
	0.1
Tenths
	0.01
Hundredths 



	587 x 6 =

	33      (3 x 3 x 3)
	Write this time in 24-hour clock:                      12 minutes past 6 in the evening

	What is the value of the 2 in 126,983?

	Convert this into a decimal:     
  =
	48.3 ÷ 100 =

	384,129 + 28,810 =


	How many cms in 2.4 metres?
	[bookmark: _GoBack]4.23 + 7.58 =

	9.3 – 6.5 = 
	Round 78,194 to the nearest 1000

	Round 78,194 to the nearest 100


	How many kilograms in 4.782g?

	    
 +   =
Convert your answer into a decimal:
	  of 25 



